
 Rottweiler Quiz 
 

1. How many adult teeth does the 
Rottweiler have? 

2. How many deciduous teeth does the Rottweiler have? 
3. How many ratios are mentioned in the standard? 
4. What is the height range for the dog? 
5. What is the height range for the bitch? 
6. What is the preferred eye color? 
7. What is the difference between the head of the dog and the 

head of the bitch? 
8. What is a Roman nose? 
9. Why does the standard call for “Shoulders well laid back”? 
10. What is the preferred inner mouth (gums) pigmentation 
color? 
11. Pink gums are a serious fault, True or False? 
12. Which tooth is most often found to be missing? 
13. What is the preferred color of the markings? 
14. What segment of the standard is most detailed? 
15. On which area of Rottweiler anatomy should the 
undercoat be present? 
  
Answers: 
1.42   2.28   3. Three, (9to10, 60/40 or 3/2, depth of chest is 50% of the height or 1 to 1)   4. 24-27 inches dogs   5. 22-25 inches  
bitches  6. Uniform dark brown  7. There is no difference in the symmetry and ratios for the head of the Dog and Bitch, 
except for the depth of the stop and general size and mass. In the dog, the stop is more pronounced and the head is more 
massive in size. 8 A Roman nose occurs when the septum slants downward causing the topline of the muzzle to slant 
downward at the nostrils.  9. So the reach for the front arm can be at its maximum extension resulting in maximum efficiency 
during gait 10. Preferred dark.  11. True.  12. P1 lower left and right   13. Mahogany   14.   The head. It contains 7 sub 
categories, 4 serious faults, 6 disqualifications. 15. Neck and Thighs 
 

 



The Rottweiler Head Type  
Knowledge Quiz 

 
1. What is the correct ratio of the 
Skull to Muzzle? 
2. What shape should the topskull 
have when seen from a profile? 
3. The eyes should be moderately 
deep set ? True or False? 

4. A dome shaped skull is correct.      True or False? 
5. Loose flews are preferred.               True or False?        
6. Eyes of different color are a serious fault. True or 
False? 
7. The term “lack of fill” under the eye refers to? 
8. The term “wet” refers to? 
9. A “Roman” nose is faulty?  True or False? 
10. What is “Winter Nose?”    
11. Entropion is a disqualification.  True or False?   
12. “Fly away” ears are faulty? True or False?     
13. Where is the stop? 
14. The “Furrow” on the head refers to? 
15. Unclear (sooty) markings on the muzzle are faulty? 
True or False? 
16. The lower jaw should be strong?    True or False?  

 
Answers 

1. 60/40 or 3/2   2. Slightly arched as seen from a profile   3. True  4.False. Dome shaped skulls are faulty and are always 
associated with too much pronunciation in the stop. Like the head of the Boxer. 5. False. Loose flews are a fault. They are 
usually accompanied with wet, throaty head types. 6. True.  7. The zygomatic arch. It means that the zygomatic arch is shallow 
8. Loose skin at the jaw bone,  under the throat and on the topskull.  9 True. The bridge of the muzzle should be straight. The tip 
if the nose should not have a dip in it.10. Winter nose refers to an anomaly, which causes the color of the nostrils to have a 
light colored  line running up and down the nose. It is only seen during the winter months. 11. True   12.  True. The standard 
states “Ears are to be set well apart, hanging forward with the inner edge lying tightly against the head. 13. The stop is located 
between the eyes. It should be well pronounced.  14. The channel that is seen running from the stop to the mid topskull.  
15. True.   16. True. The end of the muzzle is broad with a well-developed chin. 


